No 30

1:2,500 HHE B 1Lt HZE i 5 &5 X

Ul

a2 A o ENSNy e D = JRISN\S TN %%%WA&W\\\\\\ (S

R L

—
Oe

17
mERER | 4 ER-
—————————
ﬁﬁﬁﬁﬁ
® % EM8a

[——— n =

TSYNKR—LA
ﬁﬁﬁﬁﬁ

7777777777
%%%%%%%%%

Ehh AT X 35
ERHETENE B (REEAR)

#h i & EDE B (B R F)
F—EERTEERE
E—EhEEEEERAME

EEPEEEEERAME

[ ]
[ 1]
[ ]
]
[ ]
[ ]|s-—mrrms
[ ]
[ ]
[ ]
[ ]

IR (R
(SR

AT % 7 S S 4K
3 thig

HET Eihig

S = W7 NI e W\\\KW///&WVW@«@Mkk&&&k%%&\\\\\\\\\\\&%/&ﬁ’ﬁi@

= S 2o AN T W I T

128«
T sihig
= THEERAHE
- ST At
! = —-—-- |EREE YRR X
— A EE S 41 AR X i
-
Z \\ \ kﬁi’%
| I \
— R U |stEamE
Ré“’ = LR i d —— |FnEs
Q VL | ) \ ¥ >
/ - 9"/ . . 1‘2\;_5.\‘\‘ ) V-7 S 112.8 I ’ ?’ \\\ g S \\ ‘ . CHAIERL
] ) \ 3 / = ,m-T\-DF) ?T\Tl‘U\|“7\‘\‘\‘l‘\wwlHH”‘ i | i
\ ( iy 90 5 ) Wg X y #i ll _ C.Df =z ’I B i i ! \\\\\\ 5 | n il
‘ Q 22 // ! N\ R P —':.—_—__—_"_'9//1 F - I —_—
= \\\"\ a . , " \ 5 f IT~ Il = i.D :I 1}17Ir 5 1 I : \\‘\\\ o I = BEAR
A\ TN : AN N 2 N L SRS | . | oy 77 |- mhenmmnss
o) fo) ih | ( Q ’,) ,'i : ‘\ i : (@] : i : \\\\_\j‘ .

TSN WWEEASIEN == .\ | BEANSE S n £ WSS Camh
TR 20 fF B B | FH2o%128  BE - 1 IS 7 2
_— 2. THaoFE oF mMWE CONERRE. ETHEREOKERUNEERLLOTHS. 5T 128 % g i Ol NV
FR2AEEBLE L. CREBES) F 29 BN H389S) . AL o
TR 30 E B E 1:2.500 (HEIESR L)L : EEE 1,000, Z0fhifz 2, 500) WE B MBIt /N R O NO 30

[COMEE=ERHMRAEHESERENRKBEET, MMAHEND OIT=ERXATSF LE  (REHBME500 GEEZI000) %
FERALAZELLLDOThHD, (RRES : —HRAME23E) ARELHELH S VNEHAL THEERAET 3548E. REAORELLELT 5.,




